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1. Identify the indicated parts in each Java code smppet. (6 KU)

(a) String name=new String ("Tahmoor"); (b) dou).l’:le averageEarthSunDistance:l.4959@6@311;
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int bigMac=0;
String c=new String(), s=new String("01234"), a=new

For the following Java code “snippet,” complete a memory map and state the problem that is solved. (5 APP,3 COM)

Strlng("98054213“)

for (int i=0; i<a.length(); i++){
c=a.substring (i, i+1);

|

After Loop |

if (s.indexOf (c)>=0)
bigMac ++;
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3. The code given below is supposed to find the smallest integer, other than 1, that divides into “num.” Unfortunately, the

code was written by a very sloppy programmer who made several syntax, logic and indentation errors. Circle each
error and write corrected code in the provided space. (5 APP, 5 TIPS)
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4. Overloading is an important principle of object-oriented programming,
(a) Explain what is meant by overloading. (2 KU, 2 COM)
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5. An integer is printe if its only proper divisor is one. For example, 7 is prime because its only proper divisor is 1.
However, 8 is not prime because its proper divisors are 1, 2 and 4.
() Explain the steps that a computer would need to execute to determine whether a given integer is prime.
(3 TIPS, 2 COM)
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(b) Write a Java program segment that determines whether a given integer is prime. Your code should include variable
declarations. (7 TIPS, 5 COM)
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